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PAPER CODE 2016 (S) Yoy,

NUMBER: 5477 SSC PART-l (9th CLASS)

PHYSICS JP
TIME ALLOWED: 15 Minutes OBJECTIVE 0‘3/"‘.«-? e 15 = =
MAXIMUM MARKS: 12 12= AF

S o | S QL M erne LML E s v EDrn 38817 < SLEsD 5 C B A N2l ldry LS
VI Ko eSSl Bubbles e zedi e nSE G Sk | & Sl ustmstie LI 2
Note: You have four choices for each objective type question as A, B, C and D. ..L{/;J&..;Ulf{,“.;”f
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more c¢ircles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Inertia depends upon:- —< ATIEE (1
(A) Force 409 (B) Net Force s udey (C) Mass 4t (D) Velocity 4(51is

(2) One Newton force is equal to:- L Sl dfid] (2)
(A) 1 kg ms™2 (B) 1 kg ms™ (C) 1 kg ms (D) 1 kg ms?

(3) The value of Cos30° is:- —ednedd Cos30° (3)
(A) 0.5 (8) 0.707 (C) 0.866 (D) 1.00

(4) The number of perpendicular components of force is:- _.:‘;Jmu;gf u"“"}{w:féuj) (4)
(A) 1 (B) 4 ) 3 D) 2

(5) The value of Mass of the Earth is:- - (:Iﬁn.':‘g()(uﬂ&d:) (8)
(A) 6.0 x 10%%Kg (B) 6.0 x 10%4gm (C) 6.0 x 10%7kg (D) 6.0 x 1027gm

(6) Sl unit of work is:- -y Sl € 0s (6)
(A) Newton 7% (B) Watt =1l (C) Nm? (D) Joule J#

(7) Density of a substance can be found with the help of:- ~‘4-LH$CE7L,‘([’3L’” hie s (7)
(A) Pascal's Law c‘..ui_}(‘)fﬁ’&f& (B-} Hooke's Law c..u;fuﬁﬁ’éu‘f
(C) Archimedes Principle e 14(SUr 1 st (D) Principle of Floatation e sfJrtld ¢

(8) The temperature of normal human body is:- = f;/;‘ Kf’? L'}LJF.*»JLJ;L‘G (8)
(A) 15°C (B) 37°C (C) 379F (D) 98.6°C

(9) In solids, heat is transferred by:- i..f_.‘g)’(aﬂfdu'i‘lw(laluﬁ (9)
(A) Radiation ¢®I$2, (B) Conduction % (C) Convection %" (D) Absorption ¢/t

(10) The number of basic units in Si is:- ‘.T_.;Jﬂd/fid)guﬁ St (10)
(A) 3 (B) 6 @y '7 (D) 9

(11) Falcon can fly at a speed of:- Bl ke (11)
(A) 200 ms™ (B) 2 Kmh? (C) 200 Kmh™" (D) 2000 Kmh-"

(12) The unit of Acceleration in Sl is:- ‘;a_ugw‘%)fgiu: sl (12)
(A) ms! (B} ms2 . (©)ms (D) ms2
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SECTION-Il f1s.0 |

NOTE: - Attempt any three questions. _égfagiﬁéaﬂlfuﬂ:;.(;f - d
S.{A)  Derive First Equation of Motion by speed-time graph. 4 45‘.:‘«:;4&;'_,;5{..._5!/" f't‘.&;mbu&?p@? ()5
3 et ms L e n Lyl L e L A8 1 mm Nt ()
B vour hair grow at the rate of 1mm per day. Find their growth rate in nms™!.

6.(A) Calculate tensicn and acceleration in a string 4 _Ugé.“_/f;r?f:r‘:;d',(b?iuﬁ;_u?éf‘;l”w”i)’gbﬂﬂuﬂdni (N6

when both objects are moving vertically passing over a pulley.

[#)

~E IR e e S AL I e i 10 6m e iiei 100 (L)
(B) A force of 100 N is applied perpendicularly on a spanner at a distance of 10 cm from a nut,
Find the torque produced by the force.
7.(A) State Newton's Law of Gravitation and derive its 4 it domgE USRS S e (2T

Mathematical form.

3 ISR e SIS 3m LA 50 ()
(B) Abody of mass 50 kg is raised to a height of 3 m. What is its Potential Energy?
8.(A) State briefly four states of Matter. 4 A b ()-8
3 -ei'f;”}”u‘v?'fmﬁr’u&_/rf.fg 4m x 5m x 8m < 1.3 kgm™ 5558 ()

(B) Density of air is 1.3 kgm™.  Find the mass of air in a room of measuring 4m x 5m x 8m,
9.(A)  Explain the impact of Greenhouse effect in Global Warming, 4 -gwolos (A wisler St Bnm ¥ (L9
3 S S ITIHI) cbr 98.69F FAM U (L)
®)  Normal temperature of human body is 88.6°F. Convert it into Celsius scale and Kelvin scale.
SECTION-lll (v.o
10. NOTE: - Attemptany two parts.  5+5 g/ febielizine 8/ (o)) 10

A. The data of the thickness of the wire ,L,{x?}"JL‘f&t“ il “l,"‘f,}U‘.‘.'J‘-*’Ufj-&,»L;,;*KJL':«‘L,C&';,L«J@Z; )
is given below in the table. By using Screw Gauge find the thickness of the wire.
Main Scale Reading L C 0k  Division of circular scale ,.w(‘,):'f;/gz
1 mm 10
Tmm 10

ietf 832 Wiyl 91.35 Wi tintr A -G SHIE el (L)
(B) Find the density of solid body by using principle of Archimedes. I weight of body in air is 91.35g and

weight in water is 83.2g.

(C) Plot a graph between 2s and t2 with the data given below:- -“f__@..jrff-_,uu(l;}afé_;éu'ywﬁ 2 s 2s )]
2s (cm) 40 45 50 55 60
(%) 1.5 1.7 1.9 2.1 2.3
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’ 2016 (S)

. SSC PART-l (9th
PHYSICS
TIME ALLOWED: 2.45 Hours SUBJECTIVE

CLASS)

Shlo 245 =

MAXIMUM MARKS: 63

NOTE: - Write same question

63 =

number -‘Lfyﬂdqu."‘n@é{ 61;/52’13'/:{)!:’@3{4(@&

and its part number on answer book, as given in the question paper.

SECTION-l Js.o

2. Attempt any six parts.  12=2x 6

b’

Eifeelinig a3 2

(i) Define Centre of Mass. oSS nsTH (i)
(i) What is meant by Head to Tail Rule of VVectors? ‘-’c,ﬂ/b@—)/*‘-(:-i"dmf‘;ﬁ (i)
(i) Write an example of a moving body which is in equilibrium. A ASE 12 Jb‘df)u'/f)d T i)
(iv)  Whatis meant by Gravitational Field Strength? et e b Jwﬁdﬁ’/ {iv}
(v)  Why Communication Satellites are stationed at S EE U AL TS B ‘J"Dd"fﬁr’ (v)
Geostationary QOrbits?
(vi) Define Power and write its unit. = é&g(m ?§_}'/'t_.:rC_-JJ‘E (vi)
{vi)  Define Mechanical Energy. -,,”.‘"J--é’/;d’tﬁ)'tf"‘"c {vii)
(viii) ~ What is meant by Energy? el a8/ (vill)
(ix)  Define Joule. *,i'g--nyJY (ix)
3. Attempt any five parts. 10=2x5 -g‘sgfaglﬁﬁf‘i.’éka,tjf -3y
(i) Define Physical Quantities and give example. wé:;}%ﬂé@/‘e"ufuuiﬁdf (i)
(i) Differentiate between Base Quantities and Derived Quantities. -s.{gisﬁf‘ufuulﬁi?uﬂd:? (ii}
(i) Differentiate between Rest and Motion. -s’::‘ff 3 A e {iii)
(iv)  Define Speed and Velocity. E Sk (V)
(v)  Differentiate between Scalars and Vectors. & 5 O M ik” (v)
(vi)  Define Force. S i)
(vii)  Define Inertia. EwANE i)
(viiy  Define Momentum and write its formula. -é%ni;i{uﬂ»!é’:l@ﬁu(f“’} (viif)
4. Attempt any five parts. 10=2x5 “égfa.kfzﬁlz lékc..tjf _.4/.‘.Ulr
() What is meant by Elasticity? sl l:(:é’U:,’ (i}
(i} Why does a piece of stone sink in water but a L,'Vc‘_.l/th:ff LilzgAdm J:f \.Qgg»:;. t'L?h_.;su.‘.'&_[,!}Fb’/% (ii)
ship with a huge weight floats?
(i)  Define Latent Heat of Vaporization. e F s i
(iv)  Whatis Kelvin Scale? eV ()
{v) Write two applications of Thermal Expansion in daily life. _u:f"f;, a.lb“l;:u:di‘}a/)ué:i&,{{}ﬂ} (v)
(vi)  Why Mercury is used as Thermometric Material? ’:‘ux.%b@gﬁvpgﬁéd SR HS S, (i)
(vii)  What is Greenhouse Effect? e ,,l/\_*«@in:/ (vii)
(vil)  Why Thermos Flask consists of double walled Y Gmui:;w'chf;uuig:d/pJJf_ﬂLﬁJL Al (il

glass vessel?

(éj_f Lj.-’))
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